## Research article

## New approach to $\lambda$-Stirling numbers

Dae San Kim ${ }^{1}$, Hye Kyung Kim ${ }^{2, * *}$ and Taekyun Kim ${ }^{3, *}$<br>${ }^{1}$ Department of Mathematics, Sogang University, Seoul 121-742, Republic of Korea<br>${ }^{2}$ Department of Mathematics Education, Daegu Catholic University, Gyeongsan 38430, Republic of Korea<br>${ }^{3}$ Department of Mathematics, Kwangwoon University, Seoul 139-701, Republic of Korea<br>* Correspondence: Email: tkkim@kw.ac.kr, hkkim@cu.ac.kr; Tel: +82-(0)2-940-8368; Fax: +82-(0)2-940-8368.


#### Abstract

The aim of this paper is to study the $\lambda$-Stirling numbers of both kinds, which are $\lambda$ analogues of Stirling numbers of both kinds. These numbers have nice combinatorial interpretations when $\lambda$ are positive integers. If $\lambda=1$, then the $\lambda$-Stirling numbers of both kinds reduce to the Stirling numbers of both kinds. We derive new types of generating functions of the $\lambda$-Stirling numbers of both kinds which are related to the reciprocals of the generalized rising factorials. Furthermore, some related identities are also derived from those generating functions. In addition, all the corresponding results to the $\lambda$-Stirling numbers of both kinds are obtained for the $\lambda$-analogues of $r$-Stirling numbers of both kinds, which are generalizations of those numbers.


Keywords: $\lambda$-Stirling numbers of the first kind; $\lambda$-Stirling numbers of the second kind; $\lambda$-analogues of $r$-Stirling numbers of the first kind; $\lambda$-analogues of $r$-Stirling numbers of the second kind; $\lambda$-analogues of binomial coefficients
Mathematics Subject Classification: 11B73, 05A18

## 1. Introduction

It is remarkable that explorations for degenerate versions of quite a few special numbers and polynomials, which began with the study of degenerate Bernoulli and degenerate Euler polynomials by Carlitz, have led to the discoveries of many interesting results (see [10, 12-15] and references therein). Specially, the degenerate Stirling numbers of both kinds are degenerate versions of the usual Stirling numbers of both kinds and occur frequently when we study degenerate versions of many special numbers and polynomials. In addition, $\lambda$-analogues, which are different from degenerate versions, of some special numbers and polynomials, have also been studied (see [5, 6, 9, 11]). Here,
we consider the $\lambda$-analogues of Stirling numbers of both kinds.
The Stirling number of the second kind $\left\{\begin{array}{l}n \\ k\end{array}\right\}$ enumerates the number of partitions of the set $[n]=$ $\{1,2, \ldots, n\}$ into $k$ nonempty disjoint sets, while the unsigned Stirling number of the first kind $\left[\begin{array}{l}n \\ k\end{array}\right]=$ $(-1)^{n-k} S_{1}(n, k)$ counts the number of permutations of $n$ elements with $k$ disjoint cycles. Here, we consider the $\lambda$-analogues of the Stirling numbers of both kinds. The $\lambda$-analogues of $\left\{\begin{array}{l}n \\ k\end{array}\right\}$ are called the $\lambda$-Stirling numbers of the second kind and denoted by $\left\{\begin{array}{l}n \\ k\end{array}\right\}_{\lambda}$, while those of $\left[\begin{array}{l}n \\ k\end{array}\right]$ are called the $\lambda$ Stirling numbers of the first kind and denoted by $\left[\begin{array}{l}n \\ k\end{array}\right]_{\lambda}$. Here, $\lambda$ is any real number and we note that $\left[\begin{array}{l}n \\ k\end{array}\right]_{1}=\left[\begin{array}{l}n \\ k\end{array}\right] \operatorname{and}\left\{\begin{array}{l}n \\ k\end{array}\right\}_{1}=\left\{\begin{array}{l}n \\ k\end{array}\right\}$. Now, let $\lambda$ be any positive integer, then it is possible to give combinatorial interpretations of $\left\{\begin{array}{c}n \\ k\end{array}\right\}_{\lambda}$ and $\left[\begin{array}{c}n \\ k\end{array}\right]_{\lambda}$. Indeed, $\left\{\begin{array}{c}n \\ k\end{array}\right\}_{\lambda}$, called the translated Whitney numbers of the second kind $[2,16]$, enumerates the number of partitions of the set $[n]$ into $k$ subsets such that each element of each subset can mutate in $\lambda$ ways, except the dominant one. Meanwhile, $\left[\begin{array}{l}n \\ k\end{array}\right]_{\mathcal{N}}$, called the translated Whitney numbers of the first kind [2,16], counts the number of permutations of $n$ elements with $k$ cycles, such that the element of each cycle can mutate in $\lambda$ ways except the dominant one. We also consider generalizations of the $\lambda$-Stirling numbers of both kinds, namely the $\lambda$-analogues of $r$-Stirling numbers of the second kind $\left\{\begin{array}{c}n+r \\ k+r\end{array}\right\}_{r, \lambda}$ and those of (unsigned) $r$-Stirling numbers of the first kind $\left[\begin{array}{c}n+r \\ k+r\end{array}\right]_{r, \lambda}$. Here, we note that $\left\{\begin{array}{l}n \\ k\end{array}\right\}_{0, \lambda}=\left\{\begin{array}{l}n \\ k\end{array}\right\}_{\lambda}$ and $\left[\begin{array}{l}n \\ k\end{array}\right]_{0, \lambda}=\left[\begin{array}{l}n \\ k\end{array}\right]_{\lambda}$.

The aim of this paper is to derive new types of generating functions of the $\lambda$-Stirling numbers of both kinds (see Theorem 3, Corollary 4, Remark 5). We note that the new type of generating function of the $\lambda$-Stirling numbers of the second kind is equivalent to the ordinary generating function of those numbers (see Theorem 3, Remark 5). The generating function of the $\lambda$-Stirling numbers of the first kind follows from that of the second kind by inversion (see Corollary 4). In Theorem 6, we find expressions of the integral over $(a, \infty)$ of the reciprocals of the generalized rising factorials as finite sums by using an identity in (2.5), and the fact that the limit as $b$ tends to $\infty$ of a certain finite sum is zero (see (2.13)). Also, we derive an expression of $\frac{1}{k a^{k}}$ as an infinite sum by integrating the generating function of the $\lambda$-Stirling numbers of the second kind in Corollary 4. In section three, we derive the corresponding results to those in section two for the $\lambda$-analogues of $r$-Stirling numbers of both kinds by using similar methods. We are indebted to [3] for many ideas in this paper.

The outline of this paper is as follows. We first recall the generalized falling factorial sequence, the Stirling numbers of the first kind, the Stirling numbers of the second kind and the unsigned Stirling numbers of the first kind. We remind the reader of the $\lambda$-Stirling numbers of the first kind, the $\lambda$-Stirling numbers of the second kind and the unsigned $\lambda$-Stirling numbers of the first kind. We recall the $\lambda$-analogues of (unsigned) $r$-Stirling numbers of the first kind and the $\lambda$-analogues of $r$-Stirling numbers of the second kind as well as an explicit expression of the $\lambda$-analogues of $r$-Stirling numbers of the second kind and the $\lambda$-analogues of binomial coefficients. Then we remind the reader of orthogonality and inverse relations for the $\lambda$-analogues of $r$-Stirling numbers. Section two is the main result of this paper. In Theorem 3, we obtain an expression of the reciprocal of the generalized rising factorial as an infinite series involving the $\lambda$-Stirling numbers of the second kind, which is equivalent to the ordinary generating function of those numbers. It is noted in Corollary 4 that we get, by inversion, a generating function of the unsigned $\lambda$-Stirling numbers of the first kind in terms of the reciprocals of the generalized rising factorials. By applying a Frullani's integral in (2.10), we show that the limit $b$ tending to $\infty$ of a certain finite sum is equal to zero (see (2.13)). By using this fact and
an expression of the reciprocals of the generalized rising factorials in (2.5), we get explicit expressions as finite sums of the integral of those reciprocals over $(a, \infty)$ in Theorem 6 and those as infinite sums of $\frac{1}{k a^{k}}$ in Corollary 7. In section three, all the results in section two are extended to the $\lambda$-analogues of $r$-Stirling numbers and similar results to those in section two are obtained. In the rest of this section, we recall the necessary facts that will be used throughout this paper.

For any $\lambda \in \mathbb{R}$, the generalized falling factorial sequence is defined by

$$
\begin{equation*}
(x)_{0, \lambda}=1,(x)_{n, \lambda}=x(x-\lambda)(x-2 \lambda) \cdots(x-(n-1) \lambda), \quad(n \geq 1) \tag{1.1}
\end{equation*}
$$

For $n \geq 0$, it is known that the Stirling numbers of the first kind are defined by

$$
\begin{equation*}
(x)_{n}=\sum_{k=0}^{n} S_{1}(n, l) x^{l}, \tag{1.2}
\end{equation*}
$$

see [2-16, 18].
As the inversion formula of (1.2), the Stirling numbers of the second kind are defined by

$$
x^{n}=\sum_{k=0}^{n}\left\{\begin{array}{l}
n  \tag{1.3}\\
k
\end{array}\right\}(x)_{k}, \quad(n \geq 0),
$$

see [2-16, 18-20].
The unsigned Stirling numbers of the first kind are defined by $\left[\begin{array}{l}n \\ k\end{array}\right]=(-1)^{n-k} S_{1}(n, k), \quad(n, k \geq 0)$. In [9,11], the $\lambda$-Stirling numbers of the first kind are given by

$$
\begin{equation*}
(x)_{n, \lambda}=\sum_{k=0}^{n} S_{1, \lambda}(n, k) x^{k}, \quad(n \geq 0) \tag{1.4}
\end{equation*}
$$

The unsigned $\lambda$-Stirling numbers of the first kind are defined by

$$
<x>_{n, \lambda}=(-1)^{n}(-x)_{n, \lambda}=\sum_{k=0}^{n}\left[\begin{array}{l}
n  \tag{1.5}\\
k
\end{array}\right]_{\lambda} x^{k},
$$

where the generalized rising factorial sequence is given by

$$
\begin{equation*}
<x>_{0, \lambda}=1,<x>_{n, \lambda}=x(x+\lambda) \cdots(x+(n-1) \lambda), \quad(n \geq 1) . \tag{1.6}
\end{equation*}
$$

From (1.4) and (1.5), we note that $\left[\begin{array}{l}n \\ k\end{array}\right]_{\lambda}=(-1)^{n-k} S_{1, \lambda}(n, k)$.
The $\lambda$-Stirling numbers of the second kind are defined by

$$
x^{n}=\sum_{k=0}^{n}\left\{\begin{array}{l}
n  \tag{1.7}\\
k
\end{array}\right\}_{\lambda}(x)_{k, \lambda}, \quad(n \geq 0), \quad[9,11] .
$$

For $r \in \mathbb{N} \cup\{0\}$, the $\lambda$-analogues of (unsigned) $r$-Stirling numbers of the first kind are defined by

$$
<x+r>_{n, \lambda}=\sum_{k=0}^{n}\left[\begin{array}{l}
n+r  \tag{1.8}\\
k+r
\end{array}\right]_{r, \lambda} x^{k},[9,11],
$$

where we note that $\left[\begin{array}{l}n \\ k\end{array}\right]_{0, \lambda}=\left[\begin{array}{l}n \\ k\end{array}\right]_{\lambda}$, for $r=0$, (see (1.5), (1.8)).
Thus, by (1.8), we get

$$
(x)_{n, \lambda}=\sum_{k=0}^{n}(-1)^{n-k}\left[\begin{array}{l}
n+r  \tag{1.9}\\
k+r
\end{array}\right]_{r, \lambda}(x+r)^{k}, \quad(n \geq 0)
$$

The $\lambda$-analogues of $r$-Stirling numbers of the second kind are defined by

$$
(x+r)^{n}=\sum_{k=0}^{n}\left\{\begin{array}{l}
n+r  \tag{1.10}\\
k+r
\end{array}\right\}_{r, \lambda}(x)_{k, \lambda}, \quad(n \geq 0), \quad[9,11]
$$

Note that

$$
\left\{\begin{array}{l}
n+r  \tag{1.11}\\
k+r
\end{array}\right\}_{r, \lambda}=\frac{1}{\lambda^{k}} \frac{1}{k!} \sum_{l=0}^{k}\binom{k}{l}(-1)^{k-l}(l \lambda+r)^{n} .
$$

This follows easily from Theorem 1 [9]. As a special case of (1.11), we observe that

$$
\left\{\begin{array}{l}
n  \tag{1.12}\\
k
\end{array}\right\}_{\lambda}=\left\{\begin{array}{l}
n \\
k
\end{array}\right\}_{0, \lambda}=\frac{1}{k!} \sum_{l=0}^{k}\binom{k}{l}(-1)^{k-l} \lambda^{n-k} l^{n}, \text { see (1.7) and (1.10) }
$$

For $n \geq 0$, the $\lambda$-analogues of binomial coefficients are defined by

$$
\begin{equation*}
\binom{x}{n}_{\lambda}=\frac{(x)_{n, \lambda}}{n!}=\frac{x(x-\lambda) \cdots(x-(n-1) \lambda))}{n!},[15] . \tag{1.13}
\end{equation*}
$$

We are going to use the next theorem and its corollary several times in the sequel. Both (a) and (b) follow from (1.9) and (1.10), while (c)-(e) can be derived from (a) and (b).

Theorem 1. The $\lambda$-analogues of $r$-Stirling numbers enjoy the following orthogonality and inverse relations:
(a) $\sum_{k=l}^{n}(-1)^{n-k}\left[\begin{array}{l}n+r \\ k+r\end{array}\right]_{r, \lambda}\left\{\begin{array}{l}k+r \\ l+r\end{array}\right\}_{r, \lambda}=\delta_{n, l}$,
(b) $\sum_{k=l}^{n}(-1)^{k-l}\left[\begin{array}{l}k+r \\ l+r\end{array}\right]_{r, \lambda}\left\{\begin{array}{l}n+r \\ k+r\end{array}\right\}_{r, \lambda}=\delta_{n, l}$,
(c) $a_{n}=\sum_{k=0}^{n}\left\{\begin{array}{l}n+r \\ k+r\end{array}\right\}_{r, \lambda} c_{k} \Longleftrightarrow c_{n}=\sum_{k=0}^{n}(-1)^{n-k}\left[\begin{array}{l}n+r \\ k+r\end{array}\right]_{r, \lambda} a_{k}$,
(d) $a_{n}=\sum_{k=n}^{m}\left\{\begin{array}{l}k+r \\ n+r\end{array}\right\}_{r, \lambda} c_{k} \Longleftrightarrow c_{n}=\sum_{k=n}^{m}(-1)^{k-n}\left[\begin{array}{l}k+r \\ n+r\end{array}\right]_{r, \lambda} a_{k}$,
(e) $a_{n}=\sum_{k=n}^{\infty}\left\{\begin{array}{l}k+r \\ n+r\end{array}\right\}_{r, \lambda} c_{k} \Longleftrightarrow c_{n}=\sum_{k=n}^{\infty}(-1)^{k-n}\left[\begin{array}{l}k+r \\ n+r\end{array}\right]_{r, \lambda} a_{k}$.

In the special case of $r=0$, we obtain the next orthogonality and inverse relations for the $\lambda$-Stirling numbers.

Corollary 2. The $\lambda$-Stirling numbers enjoy the following orthogonality and inverse relations:

> (a) $\sum_{k=l}^{n}(-1)^{n-k}\left[\begin{array}{l}n \\ k\end{array}\right]_{\lambda}\left\{\begin{array}{l}k \\ l\end{array}\right\}_{\lambda}=\delta_{n, l}$,
> (b) $\sum_{k=l}^{n}(-1)^{k-l}\left[\begin{array}{l}k \\ l\end{array}\right]_{\lambda}\left\{\begin{array}{l}n \\ k\end{array}\right\}_{\lambda}=\delta_{n, l}$,
> (c) $a_{n}=\sum_{k=0}^{n}\left\{\begin{array}{l}n \\ k\end{array}\right\}_{\lambda} c_{k} \Longleftrightarrow c_{n}=\sum_{k=0}^{n}(-1)^{n-k}\left[\begin{array}{l}n \\ k\end{array}\right]_{\lambda} a_{k}$,
> (d) $a_{n}=\sum_{k=n}^{m}\left\{\begin{array}{l}k \\ n\end{array}\right\}_{\lambda} c_{k} \Longleftrightarrow c_{n}=\sum_{k=n}^{m}(-1)^{k-n}\left[\begin{array}{l}k \\ n\end{array}\right]_{\lambda} a_{k}$,
> (e) $a_{n}=\sum_{k=n}^{\infty}\left\{\begin{array}{l}k \\ n\end{array}\right\}_{\lambda} c_{k} \Longleftrightarrow c_{n}=\sum_{k=n}^{\infty}(-1)^{k-n}\left[\begin{array}{l}k \\ n\end{array}\right]_{\lambda} a_{k}$.

## 2. New approach to $\lambda$-Stirling numbers

Let

$$
\begin{equation*}
\frac{1}{x(x+\lambda)(x+2 \lambda) \cdots(x+k \lambda)}=\sum_{l=0}^{k} \frac{A_{l, \lambda}}{x+l \lambda} . \tag{2.1}
\end{equation*}
$$

Then, for $0 \leq m \leq k$, we have

$$
\begin{equation*}
\lim _{x \rightarrow-m \lambda}(x+m \lambda) \frac{1}{x(x+\lambda)(x+2 \lambda) \cdots(x+k \lambda)}=\lim _{x \rightarrow-m \lambda}(x+m \lambda) \sum_{l=0}^{k} \frac{A_{l, \lambda}}{x+l \lambda}=A_{m, \lambda} . \tag{2.2}
\end{equation*}
$$

On the other hand, by (2.2), we get

$$
\begin{align*}
\lim _{x \rightarrow-m \lambda} \frac{x+m \lambda}{x(x+\lambda) \cdots} & (x+(m-1) \lambda)(x+m \lambda)(x+(m+1) \lambda) \cdots(x+k \lambda) \\
& =\frac{1}{(-m \lambda) \cdot(-m+1) \lambda \cdots(-\lambda) \cdot \lambda \cdot 2 \lambda \cdots(k-m) \lambda}  \tag{2.3}\\
& =\frac{(-1)^{m}}{\lambda^{m} m!\lambda^{k-m}(k-m)!}=\frac{(-1)^{m}}{\lambda^{k}} \frac{1}{k!}\binom{k}{m} .
\end{align*}
$$

From (2.2) and (2.3), we note that

$$
\begin{equation*}
A_{m, \lambda}=\frac{1}{\lambda^{k}} \frac{(-1)^{m}}{k!}\binom{k}{m} \tag{2.4}
\end{equation*}
$$

By (2.1) and (2.4), we get

$$
\begin{align*}
\frac{1}{x(x+\lambda) \cdots(x+k \lambda)} & =\sum_{l=0}^{k} \frac{1}{\lambda^{k}} \frac{(-1)^{l}}{k!}\binom{k}{l} \frac{1}{x+l \lambda} \\
& =\frac{\lambda^{-k}}{k!} \sum_{l=0}^{k}(-1)^{l}\binom{k}{l} \sum_{n=0}^{\infty}(-1)^{n} l^{n} \lambda^{n}\left(\frac{1}{x}\right)^{n+1} \\
& =\sum_{n=0}^{\infty}\left(\frac{(-1)^{n}}{k!} \sum_{l=0}^{k}(-1)^{l}\binom{k}{l} \lambda^{n-k} l^{n}\right)\left(\frac{1}{x}\right)^{n+1}  \tag{2.5}\\
& =\sum_{n=0}^{\infty} \frac{(-1)^{n-k}}{k!}\left(\sum_{l=0}^{k}(-1)^{k-l}\binom{k}{l}^{\lambda^{n-k} l^{n}}\right)\left(\frac{1}{x}\right)^{n+1} \\
& =\sum_{n=k}^{\infty}(-1)^{n-k}\left\{\begin{array}{l}
n \\
k
\end{array}\right\}_{\lambda}\left(\frac{1}{x}\right)^{n+1},
\end{align*}
$$

where we used (1.12).
Therefore, by (2.5), we obtain the following theorem.
Theorem 3. For $k \geq 0$, we have

$$
\frac{1}{x(x+\lambda) \cdots(x+k \lambda)}=\sum_{n=k}^{\infty}(-1)^{n-k}\left\{\begin{array}{l}
n  \tag{2.6}\\
k
\end{array}\right\}_{\lambda}\left(\frac{1}{x}\right)^{n+1}
$$

Then, from Corollary 2 (e), we obtain the following result, which is the generating function of the unsigned $\lambda$-Stirling numbers of the first kind in terms of the inverses of the generalized rising factorials.

Corollary 4. For $k \geq 0$, we have

$$
\begin{align*}
\left(\frac{1}{x}\right)^{k+1} & =\sum_{n=k}^{\infty}(-1)^{n-k} S_{1, \lambda}(n, k) \frac{1}{x(x+\lambda) \cdots(x+n \lambda)} \\
& =\sum_{n=k}^{\infty}\left[\begin{array}{l}
n \\
k
\end{array}\right]_{\lambda} \frac{1}{x(x+\lambda) \cdots(x+n \lambda)} . \tag{2.7}
\end{align*}
$$

Remark 5. It is immediate to see that (2.6) is equivalent to the ordinary generating function of the $\lambda$-Stirling numbers of the second kind given by

$$
\frac{x^{k}}{(1-\lambda x)(1-2 \lambda x) \cdots(1-k \lambda x)}=\sum_{n=k}^{\infty}\left\{\begin{array}{l}
n \\
k
\end{array}\right\}_{\lambda} x^{n} .
$$

On the other hand, the exponential generating function of the $\lambda$-Stirling numbers of the second kind is shown in Eq (11) of [9] to be equal to

$$
\frac{1}{\lambda^{k}} \frac{1}{k!}\left(e^{\lambda t}-1\right)^{k}=\sum_{n=k}^{\infty}\left\{\begin{array}{l}
n \\
k
\end{array}\right\}_{\lambda} \frac{t^{n}}{n!}
$$

Let $f$ be a nonnegative real valued function that has value at $\infty$, which is denoted by $f(\infty)$. Then, for $a, b>0$, we have

$$
\begin{align*}
\int_{0}^{\infty} \frac{f(a x)-f(b x)}{x} d x & =\int_{0}^{\infty} \int_{b}^{a} \frac{\partial}{\partial t} f(x t) d t d x \\
& =\int_{b}^{a} \int_{0}^{\infty} \frac{\partial}{\partial t} f(x t) d x d t=\int_{b}^{a} \frac{f(\infty)-f(0)}{t} d t  \tag{2.8}\\
& =(f(\infty)-f(0)) \log \frac{a}{b}
\end{align*}
$$

The integral in (2.8) is the Frullani's integral, and its evaluation in (2.9) was first published by Cauchy in 1823. The $\operatorname{Eq}(2.8)$ is valid for 'nice' functions $f[1,4,17]$.

Thus, by (2.8), we get

$$
\begin{equation*}
\int_{0}^{\infty} \frac{f(a x)-f(b x)}{x} d x=(f(\infty)-f(0)) \log \frac{a}{b}, \quad[4] \tag{2.9}
\end{equation*}
$$

Let us take $f(x)=e^{-x}$ and $a=1$, then we have

$$
\begin{equation*}
\int_{0}^{\infty} \frac{e^{-x}-e^{-b x}}{x} d x=-\log \frac{1}{b}=\log b, \quad(b>0) \tag{2.10}
\end{equation*}
$$

Let $k$ be any positive integer, and let $b, \lambda>0$. Then, from (2.10), we note that

$$
\begin{align*}
\sum_{l=0}^{k} & \binom{k}{l}(-1)^{l} \log (b+l \lambda) \\
& =\sum_{l=0}^{k}\binom{k}{l}(-1)^{l} \int_{0}^{\infty} \frac{e^{-x}-e^{-(b+l l) x}}{x} d x \\
& =\int_{0}^{\infty}\left\{\sum_{l=0}^{k}\binom{k}{l}(-1)^{e^{-x}} \frac{e^{-x}}{x}-\sum_{l=0}^{k}\binom{k}{l}(-1)^{l} \frac{e^{-(b+l l) x}}{x}\right\} d x  \tag{2.11}\\
& =\int_{0}^{\infty}\left\{(1-1)^{k} \frac{e^{-x}}{x}-\sum_{l=0}^{k}\binom{k}{l}(-1)^{l} \frac{e^{-(b+l l) x}}{x}\right\} d x \\
& =-\int_{0}^{\infty} \frac{e^{-b x}}{x} \sum_{l=0}^{k}\binom{k}{l}^{(-1)^{l} e^{-l \lambda x} d x=-\int_{0}^{\infty} \frac{e^{-b x}}{x}\left(1-e^{-\lambda x}\right)^{k} d x .}
\end{align*}
$$

As $\frac{\left(1-e^{-\lambda x}\right)^{k}}{x}$ is bounded on $[0, \infty)$, say by $M$, we have

$$
\begin{equation*}
\left|\int_{0}^{\infty} \frac{e^{-b x}}{x}\left(1-e^{-\lambda x}\right)^{k} d x\right| \leq M \int_{0}^{\infty} e^{-b x} d x=\frac{M}{b} \tag{2.12}
\end{equation*}
$$

and hence the integral $\int_{0}^{\infty} \frac{e^{-b x}}{x}\left(1-e^{-\lambda x}\right)^{k} d x$ is convergent for any $b, \lambda>0$ and any positive integer $k$.
Moreover, for any positive integer $k$ and any $\lambda>0$, by (2.12) we get

$$
\begin{equation*}
\lim _{b \rightarrow \infty} \sum_{l=0}^{k}\binom{k}{l}(-1)^{l} \log (b+l \lambda)=-\lim _{b \rightarrow \infty} \int_{0}^{\infty} \frac{e^{-b x}}{x}\left(1-e^{-\lambda x}\right)^{k} d x=0 \tag{2.13}
\end{equation*}
$$

From (2.13) and (2.5), for any $\lambda, a>0$ and any positive integer $k$, we note that

$$
\begin{align*}
\int_{a}^{\infty} \frac{1}{x(x+\lambda) \cdots(x+k \lambda)} d x & =\lim _{b \rightarrow \infty} \int_{a}^{b} \frac{1}{x(x+\lambda) \cdots(x+k \lambda)} d x \\
& =\frac{\lambda^{-k}}{k!} \sum_{l=0}^{k}\binom{k}{l}(-1)^{l} \lim _{b \rightarrow \infty} \int_{a}^{b} \frac{1}{x+l \lambda} d x \\
& =\frac{\lambda^{-k}}{k!} \lim _{b \rightarrow \infty} \sum_{l=0}^{k}\binom{k}{l}(-1)^{l}(\log (b+l \lambda)-\log (a+l \lambda))  \tag{2.14}\\
& =\frac{\lambda^{-k}}{k!} \sum_{l=0}^{k}\binom{k}{l}(-1)^{l+1} \log (a+l \lambda)
\end{align*}
$$

Thus, by (2.13), we get the following theorem.
Theorem 6. For any $\lambda, a>0$ and any positive integer $k$, the following identity holds.

$$
\begin{equation*}
\int_{a}^{\infty} \frac{1}{x(x+\lambda) \cdots(x+k \lambda)} d x=\frac{\lambda^{-k}}{k!} \sum_{l=0}^{k}\binom{k}{l}(-1)^{l+1} \log (a+l \lambda) . \tag{2.15}
\end{equation*}
$$

From Corollary 4 and (2.15), for any positive integer $k$ and any $\lambda, a>0$, we have

$$
\begin{align*}
\frac{1}{k a^{k}}=\int_{a}^{\infty} \frac{1}{x^{k+1}} d x & =\sum_{n=k}^{\infty}\left[\begin{array}{l}
n \\
k
\end{array}\right]_{\lambda} \int_{a}^{\infty} \frac{1}{x(x+\lambda) \cdots(x+n \lambda)} d x  \tag{2.16}\\
& =\sum_{n=k}^{\infty}\left[\begin{array}{l}
n \\
k
\end{array}\right]_{\lambda} \frac{1}{n!\lambda^{n}} \sum_{l=0}^{n}\binom{n}{l}(-1)^{l+1} \log (a+l \lambda) .
\end{align*}
$$

We state this as a corollary.
Corollary 7. For any positive integer $k$ and any $\lambda, a>0$, the following holds true.

$$
\frac{1}{k a^{k}}=\sum_{n=k}^{\infty}\left[\begin{array}{l}
n \\
k
\end{array}\right]_{\lambda} \frac{1}{n!\lambda^{n}} \sum_{l=0}^{n}\binom{n}{l}(-1)^{l+1} \log (a+l \lambda)
$$

By Theorem 3, we get

$$
\left(\frac{1}{x}\right)^{k}=\sum_{n=k}^{\infty}\left[\begin{array}{l}
n  \tag{2.17}\\
k
\end{array}\right]_{\lambda} \frac{1}{(x+\lambda)(x+2 \lambda) \cdots(x+n \lambda)} .
$$

Replacing $x$ by $x-\lambda$ and $n$ by $n+1$, we get

$$
\left(\frac{1}{x-\lambda}\right)^{k}=\sum_{n=k-1}^{\infty}\left[\begin{array}{c}
n+1  \tag{2.18}\\
k
\end{array}\right]_{\lambda} \frac{1}{x(x+\lambda) \cdots(x+n \lambda)}
$$

In particular, for $k=1$, we have

$$
\begin{equation*}
\frac{1}{x-\lambda}=\sum_{n=0}^{\infty} \frac{\lambda^{n} n!}{x(x+\lambda) \cdots(x+n \lambda)}=\sum_{n=0}^{\infty} \frac{\lambda^{n}}{\binom{x+(n-1) \lambda}{n}_{\lambda}(x+n \lambda)} . \tag{2.19}
\end{equation*}
$$

## 3. $\lambda$-analogues of $r$-Stirling numbers

Let

$$
\begin{equation*}
\frac{1}{(x+r)(x+r+\lambda) \cdots(x+r+k \lambda)}=\sum_{l=0}^{k} \frac{K_{l, \lambda}}{x+r+l \lambda} . \tag{3.1}
\end{equation*}
$$

For $0 \leq m \leq k$, we have

$$
\begin{align*}
K_{m, \lambda} & =\lim _{x \rightarrow-r-m \lambda} \sum_{l=0}^{k} \frac{K_{l, \lambda}}{x+r+l \lambda}(x+r+m \lambda) \\
& =\lim _{x \rightarrow-r-m \lambda} \frac{x+r+m \lambda}{(x+r)(x+r+\lambda) \cdots(x+r+k \lambda)}  \tag{3.2}\\
& =\frac{(-1)^{m}}{\lambda^{k}} \frac{k!}{m!(k-m)!} \frac{1}{k!}=\frac{(-1)^{m}}{\lambda^{k}} \frac{1}{k!}\binom{k}{m} .
\end{align*}
$$

By (3.1) and (3.2), we get

$$
\begin{align*}
\frac{1}{(x+r)(x+r+\lambda) \cdots(x+r+k \lambda)} & =\sum_{l=0}^{k} \frac{(-1)^{l}}{\lambda^{k} k!}\binom{k}{l} \frac{1}{x+r+l \lambda} \\
& =\frac{1}{\lambda^{k} k!} \sum_{l=0}^{k}(-1)^{l}\binom{k}{l} \frac{1}{x} \frac{1}{1+\frac{r+l \lambda}{x}} \\
& =\sum_{n=0}^{\infty}(-1)^{n} \frac{1}{\lambda^{k} k!} \sum_{l=0}^{k}(-1)^{l}\binom{k}{l}^{(r+l \lambda)^{n}\left(\frac{1}{x}\right)^{n+1}}  \tag{3.3}\\
& =\sum_{n=0}^{\infty}(-1)^{n-k}\left(\frac{1}{\lambda^{k}} \frac{1}{k!} \sum_{l=0}^{k}(-1)^{k-l}\binom{k}{l}(r+l \lambda)^{n}\right)\left(\frac{1}{x}\right)^{n+1} \\
& =\sum_{n=k}^{\infty}(-1)^{n-k}\left\{\begin{array}{l}
n+r \\
k+r
\end{array}\right\}_{r, \lambda}\left(\frac{1}{x}\right)^{n+1},
\end{align*}
$$

where we used (1.11).
Therefore, by (3.3), we obtain the following theorem.
Theorem 8. For $k \geq 0$, we have

$$
\frac{1}{(x+r)(x+r+\lambda) \cdots(x+r+k \lambda)}=\sum_{n=k}^{\infty}(-1)^{n-k}\left\{\begin{array}{l}
n+r  \tag{3.4}\\
k+r
\end{array}\right\}_{r, \lambda}\left(\frac{1}{x}\right)^{n+1} .
$$

Now, from Corollary 2 (e) and using the notation in (1.13), we obtain the following result. Corollary 9. For $k \geq 0$, we have

$$
\begin{aligned}
\left(\frac{1}{x}\right)^{k+1} & =\sum_{n=k}^{\infty}\left[\begin{array}{l}
n+r \\
k+r
\end{array}\right]_{r, \lambda} \frac{1}{(x+r)(x+r+\lambda) \cdots(x+r+n \lambda)} \\
& =\sum_{n=k}^{\infty}\left[\begin{array}{l}
n+r \\
k+r
\end{array}\right]_{r, \lambda} \frac{1}{n!\binom{x+r+(n-1) \lambda}{n}_{\lambda}(x+r+n \lambda)} .
\end{aligned}
$$

Remark 10. The Eq (3.4) is equivalent to the ordinary generating function of the $\lambda$-analogues of $r$-Stirling numbers of the second kind given by

$$
\frac{x^{k}}{(1-r x)(1-(r+\lambda) x) \cdots(1-(r+k \lambda) x)}=\sum_{n=k}^{\infty}\left\{\begin{array}{l}
n+r \\
k+r
\end{array}\right\}_{r, \lambda} x^{n} .
$$

On the other hand, it is shown in Theorem 1 of [9] that the exponential generating function of the $\lambda$-analogues of $r$-Stirling numbers of the second kind is given by

$$
\frac{1}{\lambda^{k}} \frac{1}{k!}\left(e^{\lambda t}-1\right)^{k} e^{r t}=\sum_{n=k}^{\infty}\left\{\begin{array}{l}
n+r \\
k+r
\end{array}\right\}_{r, \lambda} \frac{t^{n}}{n!}, \quad(k \geq 0)
$$

Let $k$ be any positive integer and let $\lambda, a>0$. By using (2.13) and (3.3), we obtain

$$
\begin{equation*}
\int_{a}^{\infty} \frac{1}{(x+r)(x+r+\lambda) \cdots(x+r+k \lambda)} d x=\frac{1}{k!} \frac{1}{\lambda^{k}} \sum_{l=0}^{k}\binom{k}{l}(-1)^{l+1} \log (a+r+l \lambda) . \tag{3.5}
\end{equation*}
$$

From (3.5) and Corollary 6, we have

$$
\begin{align*}
\frac{1}{k a^{k}} & =\int_{a}^{\infty} \frac{1}{x^{k+1}} d x \\
& =\sum_{n=k}^{\infty}\left[\begin{array}{l}
n+r \\
k+r
\end{array}\right]_{r, \lambda} \frac{1}{n!} \int_{a}^{\infty} \frac{1}{n!\binom{x+r+(n-1) \lambda}{n}_{\lambda}(x+r+n \lambda)} d x  \tag{3.6}\\
& =\sum_{n=k}^{\infty}\left[\begin{array}{l}
n+r \\
k+r
\end{array}\right]_{r, \lambda} \frac{1}{n!\lambda^{n}} \sum_{l=0}^{n}\binom{n}{l}(-1)^{l+1} \log (a+r+l \lambda) .
\end{align*}
$$

Thus we have shown the following theorem.
Theorem 11. For any positive integer $k$ and any $\lambda, a>0$, the following hold true.

$$
\begin{aligned}
& \int_{a}^{\infty} \frac{1}{(x+r)(x+r+\lambda) \cdots(x+r+k \lambda)} d x=\frac{1}{k!} \frac{1}{\lambda^{k}} \sum_{l=0}^{k}\binom{k}{l}(-1)^{l+1} \log (a+r+l \lambda), \\
& \frac{1}{k a^{k}}=\sum_{n=k}^{\infty}\left[\begin{array}{l}
n+r \\
k+r
\end{array}\right]_{r, \lambda} \frac{1}{n!\lambda^{n}} \sum_{l=0}^{n}\binom{n}{l}(-1)^{l+1} \log (a+r+l \lambda) .
\end{aligned}
$$

## 4. Conclusions

We have witnessed that studying both degenerate versions and $\lambda$-analogues of some special numbers and polynomials yielded many fascinating results. Here, we note that these two are different in nature. Indeed, the degenerate versions tend to the non-degenerate ones as $\lambda$ tends to zero, while the $\lambda$-analogues as $\lambda$ tends to one. In this paper, we studied the $\lambda$-Stirling numbers of both kinds, which are $\lambda$-analogues of the usual Stirling numbers. We derived new types of generating functions for those numbers as well as for the $\lambda$-analogues of $r$-Stirling numbers of both kinds. All of these generating functions are related to reciprocals of the generalized rising factorials. Furthermore, from
those new types of generating functions we obtained expressions of the integral over $(a, \infty)$ of the reciprocals of the generalized rising factorials as finite sums and an expression of $\frac{1}{k a^{k}}$ as an infinite sum, involving the $\lambda$-Stirling numbers of the first kind or the $\lambda$-analogues of $r$-Stirling numbers of the first kind.

It is one of our future projects to continue to study various $\lambda$-analogues of many special numbers and polynomials and to find their applications to physics, science and engineering as well as to mathematics.

## Use of AI tools declaration

The authors declare they have not used Artificial Intelligence (AI) tools in the creation of this article.

## Acknowledgments

We would like to thank the Jangjeon Institute for Mathematical Sciences for supporting this research. This article was supported by the Basic Science Research Program, the National Research Foundation of Korea, (NRF-2021R1F1A1050151).

## Conflict of interest

The authors declare that there is no conflict of interest.

## References

1. J. Arias-de Reyna, On the theorem of Frullani, Proc. Amer. Math. Soc., 109 (1990), 165-175.
2. H. Belbachir, I. Bousbaa, Translated Whitney and r-Whitney numbers: a combinatorial approach, J. Integer Seq, 16 (2013), Article 13.8.6.
3. K. Boyadzhiev, Integrating inverse factorial series and series identities with binomial sums, preprint paper, 2023.
4. S. Bravo, I. Gonzalez, K. Kohl, V. H. Moll, Integrals of Frullani type and the method of brackets, Open Math., 15 (2017). https://doi.org/10.1515/math-2017-0001
5. L. Carlitz, Weighted Stirling numbers of the first and second kind. II, Fibonacci Quart., 18 (1980), 242-257.
6. L. Carlitz, Weighted Stirling numbers of the first and second kind. I, Fibonacci Quart., 18 (1980), 147-162.
7. L. Comtet, Advanced Combinatorics: The Art of Finite and Infinite Expansions, Berlin: Springer, 1974.
8. S. Araci, U. Duran, M. Acikgoz, On (q.r, w)-Stirling numbers of the second kind, J. Inequal. Spec. Funct. 9 (2018), 9-16.
9. D. S. Kim, H. K. Kim, T. Kim, Some identities on $\lambda$-analogues of $r$-Stirling numbers of the second kind, Eur. J. Pure Appl. Math., 15 (2022), 1054-1066.
10. T. Kim, D. S. Kim, Some identities involving degenerate Stirling numbers associated with several degenerate polynomials and numbers, Russ. J. Math. Phys., 30 (2023), 62-75. https://doi.org/10.1134/S1061920823010041
11. T. Kim, D. S. Kim, Some identities on $\lambda$-analogues of $r$-Stirling numbers of the first kind, Filomat, 34 (2020), 451-460. https://doi.org/10.2298/FIL2002451K
12. T. Kim, D. S. Kim, Degenerate $r$-Whitney numbers and degenerate $r$-Dowling polynomials via boson operators, Adv. Appl. Math., 140 (2022), 102394. https://doi.org/10.1016/j.aam.2022.102394
13. T. Kim, D. S. Kim, Combinatorial identities involving degenerate harmonic and hyperharmonic numbers, Adv. Appl. Math., 148 (2023), 102535. https://doi.org/10.1016/j.aam.2023.102535
14. T. Kim, D. S. Kim, Degenerate Whitney numbers of first and second kind of Dowling lattices, Russ. J. Math. Phys., 29 (2022), 358-377. https://doi.org/10.1134/S1061920822030050
15. T. Kim, D. S. Kim, H. Lee, J. Kwon, Degenerate binomial coefficients and degenerate hypergeometric functions, Adv. Differ. Equ., 2020 (2020), 115. https://doi.org/10.1186/s13662-020-02575-3
16. M. M. Mangontraum, O. I. Cauntongan, A. M. Dibagulun, A note on the translated Whitney numbers and their $q$-analogues, Turkish J. Anal. Number Theory, 4 (2016), 74-81. http://dx.doi.org/10.12691/tjant-4-3-4
17. A. M. Ostrowski, On Cauchy-Frullani integrals, Comment. Math. Helvetici, 51 (1976), 57-91.
18. L. Ronald, D. E. Knuth, O. Patashnik, Concrete Mathematics, New York: Addison-Wesley, 1994.
19. Y. Simsek, Identities and relations related to combinatorial numbers and polynomials, Proc. Jangieon Math. Soc., 20 (2017), 127-135.
20. D. S. Kim, T. K. Kim, Normal ordering associated with $\lambda$-Whitney numbers of the first kind in $\lambda$-shift algebra, Russ. J. Math. Phys., 30 (2023), 310-319. https://doi.org/10.1134/S1061920823030044
© 2023 the Author(s), licensee AIMS Press. This is an open access article distributed under the terms of the Creative Commons Attribution License (http://creativecommons.org/licenses/by/4.0)
